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Non-collinear Non-concurrent Collinear Concurrent | The medians of a triangle are:
g2 25 48 S . e‘;, bk 'S é‘ (g (‘}/I.gi 2
Area of a square with side 'S' is:
o7 o b g Sen b S By d | 3
Circle Quadrant Line A plane Point on the axis do not lies in any:
P(x
P Q00 %0 2 AL A e tl| 4
f‘l.*(.&b:g r"blﬁ‘ - J”E .uq:’b ¢ Z%.?MUKUL}J,E{ Q(x) s
Mixed surd Surd ;::éos:;ﬂn Rational number | An algebraic expression of the form%&—%— .
Q(x}#0, P(x) and Q(x)are polynomials is
called a:
0 i1 2 3 W PEDJ P(x) =x3 +3x2 -3x+1 11| 5
If POgy= x2%.3x% - 3x +1, then P(=2) =:
£1 BE{peY LCMXHCF _, LCMxHCE| ¢
LCM. HC.E. 1 Second expréssiod| Fibst éXpression f= Ay
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Non-concurrent Non-collinear Collinear Concurrent The altitudes of a triangle are:
a% +b? —4ab 4ab 2(a% +b?) (@a+b)?—(@a-b3? =2 9
o i 3l
x-ye2 +xy+¥2) | (-2 -xy+yY) @ y?) | x+eexy+yd) e . "?'d‘m/ -yl 10
Factorization of x3 -3 is:
; ’ P G|
ok + Piobons | e o P At e s
LCM+HCF | LCMxHCF L.CM. HCF. Product of two expressions _
LCM. )
0 +5 +5 - e S¥ |x|=5| 12
Solution of | x| = 5 is:
5 0 1 3 ‘e bronbalilaGon| 13
A quadratic equation has a degree:
ok S| edinds Y bl B LS | 14
Scalar matrix Row matrix Identity matrix | Column matrix | A matrix consisting of one row is called a:
b Jo mJe s (_.:«uﬂ}fr gl M.?I:Ll:}f Wiusls| 15
Circles with equal radii and equal diameters are
Concylic points Equal circles Semi circles | Concentric circles | ca]jed:
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Write short answers to any SIX parts. - a&b?/‘gﬁplz l:gc.(jf
If P(0) = x* +3x? ~5x +9  then find PQ) &5 PO 5 P(x) = x4 +3x2 ~5x 4.9 ] @
Solve by using formula: (a - _a%):‘ . ( ab— 5%)3 : éf; s JIJ i (D)
Define rational numbers with example. -ty AP G
Factorize: ~ ax+ay—x2—xy ax+ay—x? —xy EEOE ()
Factorize:  x%+9x+20 X420 bl SN2 (v)
Factorize:  8x°-y® . 8x3 -y ZE (vi)
Find HCF. by factorization: ~ abxy , aZbc abxy , a%be Sl il d  (viny
Find L.C.M. by factorization: 21a%3y , 35a%x%y , 28a%xy* PO Fps i)
Findsquareroot: 162 +24xy +9y? 16x2 4 24%y £0y2 EP 8Nk (ix)
Write short answers to any SIX parts. _P_‘.-.-,;,uzﬁé,lz J{;Jf
Solve:  3X+3(x+1)=69 BH3x+D=69 L p
Explain transitive property of inequality. - ke Bns b S St Gl (i)
Solve the inequality: X—7<5-2x X=7S5-2x Bt i)
Solve:  |x=3|=5 Ix=31=5 . LF Gy
Solve by using factorization method: ~ 5x2~ 6%48 = 0 5-6x-8=0 ZESSiun )
Define quadratic equation. -g‘.‘:r hé’/’-lﬁ:»bi/tf—»» (vi)
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Find matrix product of: [ 4 _]][_] g]
Define symmetric and skewsymmetric matrix.

-3 -2
If B =[_1 4] »then find the transpose of B.

Write short aiiswers to any SIX parts. -éa],w/‘t.t:e!.ga,df
Define straight angle. EWE L @
Define congruent figures. -ZE S S (ii)
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Draw a semi-circle with diameter 4cm at center O.

a=3,b=4,c=? lcuslbinlia,b .?nq{r#éﬁﬂwgslﬂ:m (iv)
Find the third side of each right triangle with legs a and b and hypotenuse c: a=3, b=4, c=9
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A cube of a side 4cm, find its volume.
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Defiine collinear potts. EufhEsA v
Describe the location of this point on the number line: (0,4 ) (0,4) :éﬁwfmwgs%w (vii)
Find the distance between pairs of points: (2» 1), (-4, 3) @D, 4.3 gEebilobyend 16 (viii)
Define distance formula. P Irlel  (ix)
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Part - II, Attempt any THREE questions. Each question carries 08 marks.
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” 1 1
If X =\/3T—\5,then find the values of X~~~ and Xz"'?.

Find the H.C.F by division method: x*+x%+1, x*+x*+x+1 :é{)"ﬁ:b;_‘g)ﬁ(ﬁ ()

Resolve into factors: 2 +64y* 2% 64y* et A7 ()
Solve: m-13=vm+7 m-13=vm+7 &S ()
Solve by using quadratic formula; 10x*—5x =15 #0x% -5x =15 ”é J’c_u&:ﬁ/&m) ()
Given that A = [12 ‘g] verify that A M50  SEekAas B ‘?{] J &9

5x+2y=13 - i .
Use Cramer's rule to solve simultdneous équations: 2); 4 sg w7 S Lo P £ (D)
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A ladder 17m longwheniset against the wall of a house just reaches a window at the height of
15m from the gréundy, How far is the lower end of the ladder form the base of the wall?

~ QL 2L WSl ] C(-6,7) 15 B2, T) « A6, 1) bSEE st (L)
Show that the points A(6, 1), B(2, 7) and C(=6, 7) are of a scalene triangle.
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Construct a square whose oné'Side is)Scm.
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